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BE /v — : TMSOP-8

No. RERA RBREH B f9 rin R E e
1 |SREE Ta=125 °C, V = Vopr max. 1000 h 0/22 |BEBBEW/ET S &
2 |BEEEACTR T8=85°C, RH=85 % 1000h | 022 |BHRIBHEEBRT B &
V = Vopr max.
3 | FLyswsunsqpzn |187125°C, RH=85 %, P=2x10°Pa 100h | 022 |MEBEEBRTHC L
V = Vopr max.
4 |EBRRE Ta=150 °C 1000 h 0/22 |HEREEH/BRETHL
5 |ERRE Ta=-65 °C 1000 h 0/22 |HERREHBET S L
6 |BEBIIAHIL -1 Ta=85 °C, V = Vopr max. 1 022 |MRHEEBRT 52 &
10°cycles
7 |EEHBRYAIIIL -2 Ta=105 °C, V = Vopr max. 55 * 0/22 |EmRBERBETH &
10°cycles
8 |BEY1Y L (5M)" Ta=150 °C & -65°C, & 15 % 500 cycles | 0/22 |RGREEBRETHL
LETES b 52 ¢
9O |FAEREME1 () 70—) " T=260 °C, 10s 3HE 0/22 %Ef*ﬁéﬁizé c
T=380°C, 55 ([FAF=aTEEE) HWEBRREBRTHIL
= Tt 25 S == 2 X
10 | [ZAETHEME 2 1XAETT)® 5% y— R 2@ 0/22 ML, BEALEC L
1] 2 5 6 : &
1 | (XA ETEE 3(7a—) 72 T=260 °C, 10s 1 0/22 %gf*ﬁigﬁzg z.
Oy O0X4% A4 LH 3 HUN
T=245 °C ThdIE
S 45 4 #3 N
12 |BATA 1 [ZA 7241 - Sn-3.0Ag-0.5Cu °s O | mizmamn o 95%uL LA
FHTEOLNSZ L
AHY A XH 40 T
13 |4 2N 1 (ZRER) Ta=30 °C, RH=60% 4000h | 0/6 ‘Z;y'é & um
z Ah 4 L
14 |4 25 2 (RESA I Ta=85°C & 40 °C 1500 cycles | 0/6 Z;é?&” At 45um BUF
15 |7 4 A N3 (BEEERH) Ta=55 °C, RH=85 % 4000h 0/6 Z;};?Lﬂ ABY 40pm AT
16 FAEEEESE Ta=125°C & —40°C 2000 oveles | 0122 VHAREED 50% L LD
(B A MR [£A 724 : Sn-3.0Ag-0.5Cu Y WEEHETHOL
17 | ) — K5l -8R Y &E 5|38 : 0.5N 30s 011 |U—FABRELEWLN &
18 | — FEAITIARE 21385 : 0.25N 45 ER YT 2 011 |U—FABZE LA &
V=+2000 V, C=100 pF, R=1.5 kQ .
=Sk =] b -
19 | B EME 1(HBM) Voo 3. GND &g 5[ 05 |HEREEHETHL
20 |#EMitE2(CDM) V=t500V ®E&E, EHKRE 109 05 |HEREEBRTHIL
SyFTy THRE _ o
21 LR EREAL) +100 mA, V = Vopr max. 1 05 [ZwFF7yvTLAENIL

7E) Vopr max.=ix KEIMEEE
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Bl 4 B (#1)
ERRE 0% ;2 AL 3R 2o |
. Ta=85 °C 1y I0—3ME
Tat'_12i5h c RH=85 % T=260 °C
- t=168 h t=10's
B B (#2)
SaRE iR IR EAnIE
) Ta=85 °C
Tat':;iSh C RH=85% —
t=168 h
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